
 

Solution:  

𝐴 =  
2000 𝑚𝑔

500 𝑚𝑔
 × 𝑡𝑎𝑏𝑙𝑒𝑡 

𝑨 =  𝟒 𝒕𝒂𝒃𝒍𝒆𝒕𝒔 

 

3. Dilantin-125 is available as 250 mg/10 mL. Dilantin-125, 0.5 g PO, 

is ordered. How much should the nurse administer to the patient? 

Given: 

D = 0.5 mg 

H = 250 mg 

Q = 10 mL  

 

Solution:  

𝐴 =  
0.5 𝑚𝑔

250 𝑚𝑔
 × 10 𝑚𝑙 

𝑨 =  𝟎. 𝟎𝟐 𝒎𝑳 

 

4. Furosemide is available as 50 mg in 1 mL. 20 mg is ordered to be 

administered through an IV. What amount of furosemide should 

the nurse administer? 

D = 20 mg 

H = 50 mg 

Q = 1 mL  

 

Solution:  

𝐴 =  
20  𝑚𝑔

50 𝑚𝑔
 ×  1𝑚𝑙 

𝑨 =  𝟎. 𝟒 𝒎𝑳 
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